1. Complete:
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play/e 2-Digit +~ 1-Digit Number: Part 1

a 30=3= because X =
by 60+ 6= because X -
c) 40+4 = because X =

2. To calculate 26 = 2:

Step 1: Think of 26 as 20 + 6.
Step 2: Divide both 20 and 6 by 2.

Step 3: Add up to get the final answer.

Let’s picture it:

20 6

Now that we know the steps, -
we can do the writing out: 26+ 2

-

Using a division bracket:
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3. Complete: /a) 36+3
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2,ﬁy division, we oo not start with the units flrst... |

/b) 48 - 4 N
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4. Calculate 42 =+ 3.
Let’s picture it:

Option 1: 42 =

-+

40 cavnot be divided by = eastly.
(& ()

30 12

Option 2: 42 =

20 (and 12) can be divided by 3 eastly

Y.
<

4 N . L )
42 - 3 Using a division bracket:
- \ /

5. Complete: /a) 52 +4 \ /b) 48 - 3 N
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6. Calculate 54 =+ 3:

Option 1: 54 =

Option 2: 54 =

Option 3: 54 =

/54 =3 A /Using a division bracket: A

7. Complete: /) 75+5 \ /b) 84 +6 )
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